Friday |5th Januwary 2021
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¢How many groups of 2 can you make?

Which shapes are hexagons?

p Complete.

There are hearts in each row.
Y -
QQ @ There are row.
@ @ Number sentence:
L A 4
There are hearts altogether.

P_ Calculate.
-]

three ones add one ten =D

A




Friday 15th Jaruwary 2021 I15/1/21  WALT - To divide by 5

Divide by 5
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Take 30 cubes. How many towers of 5 can you make?

You can make towers of 5.
towers of 5 is the same as 30.
30 is the same as towers of 5.

How does knowing your 5 times table help when dividing by 5?

9 lets sing the 5 times table song!
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Take 25 Lego pieces. How many towers of 5 can you make? [
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25 is the same as ____ towers of 5.
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How many pencils does each child get?
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40 pencils are shared between 5 children.
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When would we count in 5s?

82—
L B
L B
% -
i -
= —
3~
i
9 -
7 -
53—
s
2 -
£ =
K -
2 —
o —

8-
| £
- —
= —
R -
R -
£ =
==

o —

= -
2 —
F X
0 -
= -
= —
D
2 —
-
= -
=
o
- -
-
- —
- —
- —
- —
- —
-~ —

- —




Friday 15th Januwary 2021 I15/1/21  WALT - To divide by 5

20 lollipops are shared between 5 children.
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How many lollipops does each child get?

& 5 6 7 8 910111213 1415 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
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35 lollipops are shared between 5 children.
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How many lollipops does each child get?

123 456 7 8 910 111213 14 15 16 17 18 19 2021 22 23 24 25 26 27 28 29 3031 32 33 34 35 36 37
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Group the 1p coins into 5s. How many 5p coins do
we need to make the same amount of money?
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Draw coins and complete the missing information.

* ___lots of 5p = 20p one pence coins
* __ lotsof 5p=20p

*+ 20p=__ x5p

* 0p+5=___

How can we represent the problem using objects/images?
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A jar contains 5 sweets. A box contains
5 jars. Zach has 75 sweets.

How many jars will he need?
How many boxes will he need?
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Use the number cards to make
multiplication and division sentences.
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4

2

10

20

5

How many can you make?
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Bronze

an T
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Silver

WALT - To divide by 5

Answer the division calculations below .

vyt Yy

Py & Pracsmen.

7

T oreme
e

How many lollpops does each child get?

C-C ]

10 lolipops are shared between 5 chikiren.

How many lolipops does each child get?

O-0-0

There are 20 bananas.
How many bananas wil each monkey recee?

Answer the division calculations below .

25 lollipops are shared between 5 children.
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How many lollipops does each child get?

I

40 lolipops are shared between 5 children.
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How many lollipops does each child get?
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There are thirty bananas.
How many bananas will each monkey recelve?

There are bananas.
How many bananas wil each monkey recetve?

Gold

et R
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Answer the division calculations below.

Tia has twenty five marbles. She splts them.
‘equally 50 there are 5 (n each bag.

She needs 12 marbles to play a game.

How many bags should she take?

]

Esin has forty marbles, She splits them equal
50 theve are 5 In each bag.

She needs 18 marbles to play a game.

How many bags should she take?

[ 1o

Tia has nine colns in her pocket.
How many colns do they have altogether?

@

Draw a picture to help prove your answer,

09

k) 99¢
Leanna has 20p in her pocket in Sp coins. Leanna has 30p in her pockst in 5p coins.
Malachl has 35p in his pocket in 5p cotns. Malacht has 85p in his packet in Sp colns.

Tia has B coins in her
Who has the most colns?

e

Draw a picture to help prove your answer.

e i) g b

5.5 O 5042
1242 O 3045

3 tens plus five ones

thirtyfive
duided by fve

divided by fwe

Compare using comparon symbols.
»-

5045 O 182
5 ‘subtract.
ez (O

10+5 O 8:2
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Independent Work Now its your turn!

Bronze

Silver
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Fremerang & Frosie, Seharg

rty jar contains 5 sweets.

Ron has 25 sweets.

any party jars will he need?

Use the number cards to make multiplication
and dwision sentences.

How many can you make?

e

Recoceing & Problem Sebng 2

A party Jar contalns 5 sweets.

Ron has thirtyfive sweets

How many party jars will he need?

Use the number cards to make multiplication.
and dwision sentences.

How many can you make?

Gold

A party jar contains 5 sweets.
A box can hold 5 party jars.

Ron has 50 sweets.
How many party jars will he need?

How many boxes will he need?

Use the number card

and divisi
How many




